Sub Item #
40835
87530
87531
87532
87534
87536
87551
87552
87553
87554
87556
87571
87572
87573
87574
87576
88328
88329
88330
92370
92371
92372
92418
92419
92420

Kit Item List
Sub Item Description
24 SPACE LARGE METAL DRAWER GRAY
1/4-28 X 1/2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/4-28 X 3/4" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/4-28 X 1" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/4-28 X 1-1/2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/4-28 X 2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
5/16-24 X 3/4" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
5/16-24 X 1" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
5/16-24 X 1-1/4" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
5/16-24 X 1-1/2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
5/16-24 X 2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
3/8-24 X 3/4" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
3/8-24 X 1" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
3/8-24 X 1-1/4" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
3/8-24 X 1-1/2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
3/8-24 X 2" STAINLESS STEEL HEX HEAD CAP SCREW 18-8(304)
1/4-28 STAINLESS STEEL FINISHED HEX NUT 18-8(304)
5/16-24 STAINLESS STEEL FINISHED HEX NUT 18-8(304)
3/8-24 STAINLESS STEEL FINISHED HEX NUT 18-8(304)
1/4" STAINLESS STEEL FLAT WASHER 18-8(304)
5/16" STAINLESS STEEL FLAT WASHER 18-8(304)
3/8" STAINLESS STEEL FLAT WASHER 18-8(304)
1/4" STAINLESS STEEL SPLIT LOCK WASHER 18-8(304)
5/16" STAINLESS STEEL SPLIT LOCK WASHER 18-8(304)
3/8" STAINLESS STEEL SPLIT LOCK WASHER 18-8(304)

Quantity
1
25
25
20
20
15
25
20
20
15
15
20
20
15
15
10
50
50
50
50
50
50
50
50
50



